o
[N

.....................................................

<0 > (rad)
o
o [
[ [¢)]

< dcotl>)
o
=
a1

—0.05f----rerertee b e +++++ ---------- —-0.05F--------
=0 e ! 1 -0
SO0 15| SETEEEETERRE EY CETEREERE EERSTERIETES: & ELRLETES =045 e
9_042; L |! " 1 |! " 1 |! L 9_-0\»’2: L |! " 1 |! " 1 |! L
§ 1055— -------- T A A §
E HERES T : : il b P8 i
I=------ . -+ - L 2 = & SRREEEEEE L T
: 0.95C 1

o
©
a

1 107 1

=
o
iN

3 2 3
10 02 1 10 0 1
TP, (PCA t% beamling TP, (PCA t% beamline
—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

100r T T T = 100

S R | | I oo 3 R
[6]0] E=RERERE] J £ BE] EEEEEEEEEPETEFEPREE EF TREr AP R - . . .

O O P 1

N
o
I

< 00, > (M)
<od,>(um

20F------] PO 1 1 - — 11—
- T+ : .

Il 20F-- o
—20F oo i b : : ; 1

E —40F------ 1 U H 1 PR O il SR
o—l@O_ AP 1'% YY1 T IR MY 7YY B P o;.w_ bl s i L
s H [ : s I
14 [ ; 14 [ ;

1_— """ """"" 1_— """"""""
0'9150-'1 1 10 ; (:JZ 3 0'915(;'1 1 10 0? 3
TPp, (PCA t]b beamliné‘? TPp, (PCA t]b beamliné‘f)

<0 / > (Y
PP, > (Y0)
O = N W N O

I
b
4;*
LB
o
*
+

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


